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1 AL HaeE 80 24000 b5 4 At
2 R X 135 40500 b5 3+t
3 AL BRE 40 12000 b5 4 At
4 R PR N 50 15000 b5 b A
5 T BT 80 24000 b5 4 At
6 TARH FEF 42 12600 b5 b, At
7 TR B % 35 10500 AT
8 R BLE 7 203 60900 A
9 TR &2 31 9300 AT
10 R HRE 79 23700 o A7 A
11 L N ESE 80 24000 BT A
12 =X = B AR 80 24000 AT
1




13 W4 K B AR 112.1 33630 A
14 R PR G TE 83 24900 A
15 RN & 94 28200 AT
16 LR X 'Y 130 39000 EAEAT
17 RN VNER 35 10500 B A
18 H M 2= B4R 85 25500 BB
19 TR x| 3 138. 5 41550 R B A
20 H M 5 A Fo 120 36000 R B A
21 LR 2 H 84 25200 R& EAL
22 LRy X KA A 170 51000 R B
23 H M A & 128. 8 38640 R B A
24 LRy X FHR 132 39600 e At
25 A MK E 286 85800 A m A
26 M4 & B 74 22200 #r i A
27 ERx ! SIS 61.7 18510 7 E AT
28 R =K 58 17400 A A
29 ERx ! W % 45 59 17700 5 B A
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30 ERA ! RS 50 15000 AT
31 ERx ! ZFHAK 95 28500 A AT
32 AR b 4 63 18900 7 H A
33 + M4 R B 80 24000 e, B AT
34 HAM zS 150 45000 TAHA
35 # e 223 398 119400 i RAT
36 # T 126 37800 il AT
37 # ba 2 53 15900 i RAT
38 # b A 247.5 74250 AT
39 UL H 4R R KR 289 86700 a1
40 V1 4H W 117 35100 B IAT
41 T 48 K & 45 13500 a1
42 T4 % E T 138 41400 B4
43 L H 4H A E I 185 55500 Z LAY
44 L H 4H B 38 11400 %l A
43 T H 48 Y {57 2% 200 60000 L AT
46 L H 41 B 38 11400 T AT
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47 VL4 & rE 134 40200 EAT
48 L H 4 R 230 69000 EAL
49 VL 4E % & 7 132 39600 B PAT
50 4l Z WA A 95 28500 FAbAT
51 X R HE A 208 62400 sz 75 A
52 SCR B i i A 45 13500 ARASAL
53 | xR @ 77 [ - 114 34200 =3k

54 | XRAfE R E B 31 9300 ARASAL
55 | XABfH -1 31 9300 lig 75 A
56 AT A B 65 19500 WA
57 Rk UK 260 78000 75 UG A
58 R =R R 40 12000 7 U5 A
59 T H4H % B BA 48 14400 FRIEA
60 FHHE PR R AL 70 21000 A
61 T H4H Rk i 50 15000 AT
62 FHHE R 3RE 91 27300 FRIEA
63 EHE Bf S 32 9600 I H At
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